CJETFAST J S2%—k FobAo4—h

ME . RATULR
REWIE : Hih
SEEE oL
[~—H—={{P ~—H-—-|{P
AT ( A_#
L L
Eoe ur
58 b - b
—

A *I” ;E//—\(ﬁ waRE +0.é_/—0 MZX il-(l).s +0.:|:/—0
SS-SM325 M3X0.5 5.1 05~20 9.0 50 6.0 05
SS-SM425 M4X0.7 6.1 05~25 11.0 6.0 7.0 05
SS-SM525 M5X0.8 71 05~3.0 12.0 7.0 80 05
SS-SM625 M6X1.0 9.1 05~3.0 14.0 9.0 10.0 05
SS-SM825 M8X1.25 11.1 0.5~3.0 16.0 11.0 12.0 05
SS-SM1025 | M10X1.50 13.1 1.0~3.5 19.0 13.0 14.2 0.8
SS-SM1240 | M12X1.75 16.1 1.0~4.0 22 5% 16.0 17.2 0.7

*+0.3
N[ ‘EE
—

2 wog | V0| meEm | oo | e |otos| o
SS-LM325 M3X0.5 5.1 03~20 98 50 80 08
SS-LM425 M4X0.7 6.1 03~25 12.0 6.0 9.0 1.0
SS-LM435 M4X0.7 6.1 25~40 13.5 6.0 9.0 1.0
SS-LMb525 M5X0.8 71 03~3.0 13.0 70 10.0 1.0
SS-LM535 M5X0.8 7.1 3.0~45 145 7.0 10.0 1.0
SS-LM625 M6X1.0 9.1 05~3.0 155 9.0 12.0 1.5
SS-LM640 M6X1.0 9.1 3.0~5.0 17.5 9.0 12.0 15
SS-1LM825 M8X1.25 11.1 0.5~3.0 175 11.0 15.0 1.5
SS-LM840 M8X1.25 11.1 3.0~5.5 20.0 11.0 15.0 15
SS-LM1025 | M10X1.50 13.1 1.0~3.5 21.0 13.0 17.0 20
SS-LM1040 | M10X1.50 13.1 3.5~6.0 235 13.0 17.0 20

Eo DIF NP B2

T224-0003 EMHEM X P)IHFR1 —4—6 7+—L A K-k ¥—E/L 3F

TEL 045-532-6900 FAX 045-532-6909
BELWEHhEA—IL

info@avdelook.co,jp

http://www.avdelook.co.jp




ULTIMATE

PUSH OUT PULL OUT TORQUE
i (kef) (kef) (kgf-cm)
SS-SM325 10 275 540 35
SS-SM425 2.0 300 1000 50
SS-SM525 20 300 1600 90
SS-SM625 30 300 2100 160
SS-SM825 30 400 3000 300
SS-SM1025 3.0 600 4300 400
SS-SM1240 2.0 600 6000 800
HiRTaE SRR E mARILY
=
ikl wE (kef) (kef) (kgf-cm)
SS-LM325 10 340 540 35
SS—LM425 2.0 500 1000 50
SS-LM435
SS—LMS25 2.0 700 1600 90
SS-LM535
SS—LM625 3.0 1000 2100 160
SS-LM640
SS—LM825 3.0 1300 3000 300
SS-LM840
SS-LM1025 3.0 1600 4300 400
SS-LM1040

SIE {1 : 1kgf-cm=0.098N-m kgf=9.807N

T224-0003 #EHEHRF/IFRT1—4—6 T+—L R EUH—EL3F

[\
Avdelook | S | ’ ,-_ 7 o TEL 045-532-6900 FAX 045-532-6909 http://www.avdelook.co.jp
' ’ (1] . Iv"’ **itﬁ*i ﬁFﬂﬁ[’\gbﬁ)‘_)b

. info@avdelook.co jp



